Honors Math II NAME: Kevy

After Unit 2 test: Interval Notation, Domain & Range Period: Date:

Put in interval notation and draw a graph of each inequality.
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Write each interval as an inequality.
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12. Complete the table below by filling in the missing information in each row.
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13. Is4intheset(4,5)? NO

14. Is3.333intheset (2,20)? yeS

15. Is 3 in the set (-00, 3]?

ye$

16. 153.9999999 in the set (-0, 4)? ye.s

17. Is6intheset (-00,6) U (6,00)? NO




Find the domain and range of each graph using interval notation.
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Find the domain and range of each graph using inequality notation.
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Draw a function that satisfies the give domain and range.

Answers will Vary
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